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Exam Date 17/11/2021
Exam Time : 4:00 PM - 5:30 PM
Subject Constable GD 2021

Section : Part A General Intelligence and Reasoning

Q.1 What is the difference between the compound interest on 40,000 at 20% per annum
compounded half-yearly and compounded quarterly for a period of one year?

Ans X 1.3320.25
X 2.%8,400
X 3.28,620.25
o 4.3220.25

Question ID : 65497832156
Status : Answered
Chosen Option : 1

Q.2 ‘P x Q means ‘P is the wife of Q’. ‘P + Q’ means ‘P is the father of Q. ‘P + Q' means ‘P
is the daughter of Q’. ‘P — Q' means ‘P is the son of Q".How is E related to | in the
expression ‘E+F+G—-H+1'?

Ans X 1. Daughter-in-law

X 2. Sister
«# 3. Granddaughter

X 4. Grandson

Question ID : 65497832173
Status : Answered
Chosen Option : 3

Q.3 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

1. Manager
2. Manicure
3. Manner
4. Mammal
5. Mandible

Ans X 1.3,4,2,1,5
24,1523
X 3.1,4,523
X 4.4,1,53,2

Question ID : 65497832149
Status : Answered
Chosen Option : 2
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Q.4 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

T_DS_R_STRD_T_DS_R_S
Ans X 1.RTDTRDT
X 2.DTDSSST
& 3. RTDSRTD
7 4DTRSRTD

Question ID : 65497832150
Status : Answered
Chosen Option : 3

Q.5 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.

BFI, EIL, HLO, KOR, ?
Ans X 1.HNM
% 2.Qsv
X 3.LPS
o 4.NRU

Question ID : 65497832167
Status : Answered
Chosen Option : 4

Q.6 Six people, F, G, H, I, J and K, are standing opposite to each other in a circle, facing
towards the centre. F and G are adjacent to each other. F and K are opposite to each
other. H is opposite to I. J is opposite to G. K is second to the left of H. Who is
standing between F and 1?

Ans X 1.K
x2.J
X 3.H
& 4.6

Question ID : 65497832169
Status : Answered
Chosen Option : 4

Q.7 Study the given pattern carefully and select the number that can replace the question
mark (?) in it.

1530 33
16 26 19
62122 ?

Ans X 1.124

X 2.128

<317
o 4. 104

Question ID : 65497832155
Status : Answered
Chosen Option : 4
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Q.8 In a certain code language, HIDDEN is written as IJECDM. How will FELLOW be written
as in that language?

Ans X 1. EDKKNU
X 2. EDKMPZ
X 3. GFMMPZ
o 4. GFMKNV

Question ID : 65497832153
Status : Answered
Chosen Option : 4

Q.9 Four letter-clusters have been given, out of which three are alike in some manner and
one is different. Select the letter-cluster that is different.

Ans 4 1. YUSR
< 2. GDBA
X 3.IFDC
< 4.ZWUT

Question ID : 65497832163
Status : Answered
Chosen Option : 1

Q.10 Select the number from among the given options that can replace the question mark
(?) in the following series.

128, 109, ?, 77, 64, 53, 44
Ans X 1.88
X 2. 81
o 3.92
% 4.100

Question ID : 65497832151
Status : Answered
Chosen Option : 3

Q.11 In a certain code language, 'TWO' is coded as '3' and 'FIVE' is coded as '4". How will
'EIGHT’ be coded in that language?

Ans X 1.7
X209
3.5
X 48

Question ID : 65497832164
Status : Answered
Chosen Option : 3
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Q.12 Eleven people are sitting across a rectangular table. Four persons are sitting on each
longest side of the table. Boss is sitting alone at one side of the table. N and O are
sitting beside each other on one of the shortest side of table. H is sitting opposite to E
and between G and N. A is sitting opposite to C and between M and D. B is opposite to
D and between C and G. F is sitting opposite to G. Who among them is a Boss?

Ans X 1.F
& 2. M
X 3.A
X 4.G

Question ID : 65497832158
Status : Answered
Chosen Option : 2

Q.13 ‘Printer’ is related to ‘Hardware’ in the same way as ‘Web Browser’ is related to

Ans X 1. Google Chrome
" 2. Software
5 3. Windows
25 4. Operating System

Question ID :'65497832168
Status : Answered
Chosen Option : 2

Q14 select the option that is embedded in the given figure (rotation is NOT allowed).

Ans

Question ID : 65497832162
Status : Answered
Chosen Option : 1
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Q.15 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:
1. All flowers are tulips.
2. No tulips are whites.

Conclusions:
I. All tulips are flowers.
1l. Some tulips are whites.

Ans  &# 1. Neither conclusion | nor conclusion Il follows.
75 2. Both the conclusions follow.
25 3. Only conclusion Il follows.

2< 4. Only conclusion | follows.

Question ID : 65497832154
Status : Answered
Chosen Option : 1

Q.16 Select the correct mirror image of the given figure when the mirror is placed at 'AR' as shown.

4

B

Ans

P

(Q)

g

X2 b‘-“)
s A

<7

bed

Question ID : 65497832166
Status : Answered
Chosen Option : 4
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Q.17 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?

Ans
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Question ID : 65497832157
Status : Answered
Chosen Option '3

Q.18 Select the number from among the given options that can replace the question mark
(?) in the following series.

37, 41, 50, 66, ?
Ans X 1.101
o 2.91
X 3.85
X 4.97

Question ID : 65497832165
Status : Answered
Chosen Option : 2

Q.19 Select the option that is related to the third number in the same way as the second
number is related to the first number.

15:231::16: 7
Ans X 1.251
X 2.256
X 3.260
o 4.262

Question ID : 65497832159
Status : Answered
Chosen Option : 4
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Q20 gelect the figure that will come next in the following figure series.

-§——-| --——q. .--— - o=
Pod | ieei |10 | iaei] ?
& L
Ans
."--1
Xal i -

Question ID : 65497832152
Status : Answered
Chosen Option : 3

Q.21 Select the option that is related to the third letter-cluster in the same way as the
second letter-cluster is related to the first letter-cluster.

FEW: GYH: YOU:?
Ans X 1. QAW
X 2. WQA
" 3. QWA
X 4. AQW

Question ID : 65497832171
Status : Answered
Chosen Option : 3

Q.22 If ‘P’ denotes ‘addition’, ‘D’ denotes ‘subtraction’, ‘S’ denotes ‘multiplication’, and ‘V’
denotes ‘division’, then what will be the value of the following expression?

15S2P2(11S2)D75V15D4(9S4)
Ans # 1.-75

X 275

75 3.85

< 4.-85

Question ID : 65497832160
Status : Answered
Chosen Option : 1
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Q.23 If 'white' is called 'black’, 'black’ is called 'grey’, 'grey’ is called 'red’, 'red, is called
‘green’, ‘green’ is called 'blue’ and 'blue’ is called 'yellow’, then what will be the colour
of ‘Stop’ signal light?

Ans X 1.Blue
" 2. Green
X 3. Grey
4. Yellow

Question ID : 65497832172
Status : Answered
Chosen Option : 2

Q.24 select the Venn diagram that best represents the relationship between the following classes.

Girls, Boys. Students

(G: Girls: B: Boys; S: Students)

Ans 1 I
v1.|CS|s|=B
B
~ 2 F s
X 3. !G S
x4 E B

Question ID : 65497832170
Status : Answered
Chosen Option : 1
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Q.25 A dice is thrown three times. Its different positions are as shown. Select its next possible position from the given

options.
Cc B E
A B A E A F
Ans D
1.
x . |E
F
2.
4 O -
E
3.
x P -
C
x4 i e

Question ID : 65497832161
Status : Answered
Chosen Option : 2

Section : Part B General Knolwedge and General Awareness

Q.1 Which of the following states is associated with the dance drama folk theatre form
‘Yakshagana’?
Ans 1. Karnataka

< 2. Andhra Pradesh
< 3. Telangana
X 4. Kerala

Question ID : 65497832181
Status : Answered
Chosen Option : 1

Q.2 A sphygmomanometer is used to measure which of the following?
Ans X 1. Electric current

25 2. Humidity

#< 3. Wind

" 4. Blood pressure

Question ID : 65497832182
Status : Answered
Chosen Option : 2
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Ans

< 1. Hydrogen bromide
" 2. Silver iodide

< 3. Silver oxide

2< 4. Aluminium sulphide

Q.3 Which of the following chemicals is used to cause artificial rain (cloud seeding)?

Question ID : 65497832183
Status : Answered
Chosen Option : 1

Ans

< 1. These tides are the highest.
" 2. These tides are the lowest.
#< 3. These tides occur on new moon days.

#< 4. These tides occur during full moon days.

Q.4 Which of the following statements is NOT true regarding 'Spring tides'?

Question ID : 65497832193
Status : Answered
Chosen Option : 2

Ans

#< 1. money lenders
25 2. zamindars
«" 3. the cooperative societies

< 4. friends and relatives

Q.5 Besides banks, the other formal major source of cheap credit in rural areas, are:

Question ID : 65497832192
Status : Answered
Chosen Option : 1

< 2. Purav Raja
2< 3. Divij Sharan
< 4. Yuki Bhambri

Q.6 Jwala Gutta is an Indian professional player.
Ans X 1. football

< 2. table tennis

75 3. tennis

" 4. badminton

Question ID : 65497832189
Status : Answered
Chosen Option : 2
Q.7 became the first Indian to win a singles match at the US Open in seven
years in September 2020.

Ans o 1. Sumit Nagal

Question ID : 65497832177
Status : Answered
Chosen Option : 1
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Ans  # 1.1526
< 2.1694
X 3.1467
X 4.1372

Q.8 Babur defeated Ibrahim Lodi and captured Delhi and Agra in the year .

Question ID : 65497832195
Status : Answered
Chosen Option : 1

(IPL) 20207
Ans o 1. KL Rahul

< 2. Jimmy Neesham
25 3. Virat Kohli
#< 4. MS Dhoni

Q.9 Who among the following cricketers won the Orange Cap in the Indian Premier League

Question ID : 65497832194
Status : Answered
Chosen Option : 1

Ans X 1.15July
#< 2.5 December
" 3. 14 January
75 4.26 October

Q.10 When is the Indian Armed Forces Veterans Day observed annually?

Question ID : 65497832191
Status : Answered
Chosen Option : 1

Q.11 The Battle of Kohima was fought in 1944 between:
Ans X 1. Japanese forces and Communist,Chinese forces

< 2. Royal Burmese Army and British Indian Army
" 3. Imperial Japanese forces afd,British Indian forces

25 4. Chinese forces and British Indian forces

Question ID : 65497832180
Status : Answered
Chosen Option : 3

Ans X 1. Uttar Pradesh
< 2. Chhattisgarh
" 3. Madhya Pradesh
< 4. Bihar

Q.12 Which of the following states announced the setting up of a ‘Gau Cabinet’ in
November 2020 for the protection and promotion of cattle?

Question ID : 65497832198
Status : Answered
Chosen Option : 1
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Q.13 Who among the following won the Men's Singles event at the US Open 2020?
Ans X 1. Alexander Zverev

< 2. Novak Djokovic
## 3. Dominic Thiem
25 4.Bruno Soares

Question ID : 65497832174
Status : Answered
Chosen Option : 2

Q.14 tax is imposed on transactions that have a negative externality; for example,
pollution.
Ans X 1. Tobin
& 2. Pigovian
25 3. Customs
X 4.CTT

Question ID : 65497832185
Status : Answered
Chosen Option : 2

Q.15 Mahashay Dharampal Gulati, who passed away in December 2020, was the owner of
iconic spice brand

Ans X 1.Badshah
& 2. MDH
< 3. Everest
< 4. Catch

Question ID : 65497832188
Status : Answered
Chosen Option : 2

Q.16 Which among the following terms denotes to the hilly parts of the Karnataka plateau?
Ans X 1.Bugyals

X 2. Terai
" 3. Malnad
< 4. Bets

Question ID : 65497832187
Status : Answered
Chosen Option : 3

Q.17 The book 'Kashmir's Untold Story: Declassified' was written by:
Ans o 1.Igbal Chand Malhotra and Maroof Raza

#< 2. C Uday Bhaskar and GD Bakshi
2% 3. Karan Thapar and Shobhaa De

#< 4. Nandita Haksar and Arundhati Roy

Question ID : 65497832184
Status : Answered
Chosen Option : 2
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Q.18 The last Mughal Emperor Bahadur Shah Zafar was imprisoned in Rangoon jail by the
British in the year .

Ans X 1.1885
o 2. 1858
< 3.1826
X 4.1862

Question ID : 65497832196
Status : Answered
Chosen Option : 2

Q.19 As per Census 2011 which one of the following states does NOT fall in the Empowered
Action Group (EAG) states?

Ans X 1.Rajasthan
25 2. Jharkhand
< 3. Bihar
¥ 4. Punjab

Question ID : 65497832178
Status : Not Answered
Chosen Option : --

Q.20 Which of the following dynasties was NOT a part of the Delhi Sultanate?
Ans X 1. Lodhi

7 2. Knhili
" 3. Sur
< 4.Slave

Question ID : 65497832176
Status : Answered
Chosen Option : 3

Q.21 When did the Transgender Persons (Protection of Rights) Act, 2019 come into effect?
Ans X 1. June 2020

< 2. December 2019
" 3. January 2020
< 4. March 2020

Question ID : 65497832190
Status : Answered
Chosen Option : 3

Q.22 In which of the following years was the Buddhist Chanting of Ladakh included in the
UNESCO'S list of intangible cultural heritage?

Ans X 1.2014
o 2.2012
X 3.2016
X 4.2013

Question ID : 65497832186
Status : Not Answered
Chosen Option : --
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Q.23 The National Commission for Backward Classes Act, 1993, was repealed by The
National Commission for Backward Classes (Repeal) Act in the year

Ans X 1.2019
o 2.2018
X 3.2017
% 4.2016

Question ID : 65497832197
Status : Answered
Chosen Option : 1

Q.24 What is the dominant substance that makes up the hair, nails and the top layer of skin
in the human body?

Ans X 1.Laminin
75 2. Collagen
4" 3. Keratin
2< 4. F bronectin

Question ID : 65497832175
Status : Answered
Chosen Option : 3

Q.25 The statutory power for exchange control was provided to Reserve Bank of India by
the Foreign Exchange Regulation Act (FERA) of , which was subsequently
replaced by a more comprehensive Foreign Exchange Regulation Act, 1973.

Ans X 1.1953
o 2. 1947
X 3.1967
X 4.1963

Question ID : 65497832179
Status : Answered
Chosen Option : 1

Section : Part C Elementary Mathematics

Q.1 Ifthe height of a right circular cone is 24 m and its slant height is 30 m, then what is the area of its curved surface?

(Use = 2
Ans 1. 1697.143 m2
X'2.1377.423.m?
X3 1778.654 m?
X4 1267.435 m?

Question ID : 65497832220
Status : Answered
Chosen Option : 1
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Q.2 By selling an article for T254.38, there is a gain of 10.6%. If it is sold for T224.25, then the loss/gain percentage will be:

Ans 1. loss, 2.5%
X 2. gain, 2.5%
X 3. gain, 5%
X 4. loss, 5%

Question ID : 65497832222
Status : Answered
Chosen Option : 1

Q.3 The average of seven consecutive positive integers is 259. If the next five odd numbers are included, then what is the
average of all the numbers (correct to two decimal places)?

Ans  X'1. 260.74
X 2. 259,68
3. 262.33
X 4. 267.89

Question ID : 65497832206
Status " Answered
Chosen Option : 3

Q4 1f the number 6523678pq is divisible by 99, the missing digits p and q are:
Ans X 1. p=4,q=4

X2 p=6,q=2
3. p="‘1q=6
X4 p=3,q=5

Question ID : 65497832205
Status : Answered
Chosen Option : 2

Q.5 What is the difference between the compound interest on 3,000 for 1 year at 3% per annum compounded yearly and
that compounded half-yearly?

Ans

x 1. ?’1E
25
#2312
a8
x3 7118
15

% 4 F1E
7

Question ID : 65497832219
Status : Answered
Chosen Option : 2
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Q6 Thevalueof3x4+30f24—3 +2x(3—4)X2+6+40f3is:

Ans

x 1.

x 2.

x 3.

o 4.

2

;1
3

Question ID : 65497832221
Status : Answered
Chosen Option : 4

Q.7 The ratio of the number of men and women in a company is 5 : 4. If the number of men and women increase by 16%
and 15%, respectively, then what will be the new ratio of men and women?

Ans  X'1. 29:33
2 20:23
X3 33:29
x4 23:29

Question ID : 65497832218
Status : Answered
Chosen Option : 2

Q.8 A, BandC can complete a work in 60, 30 and 20 days, respectively. In how many days can A complete the work if he is
assisted by B and C together on every fifth day?

Ans

x 1.
2.
x 3.

25
30
15

X 4. 35

Question ID : 65497832215
Status : Answered
Chosen Option : 2

Q.9 Two numbers X and Y are such that the sum of 3% of X and 2% of Y is two-third of the sum of 2% of X and 6% of Y.
The ratio of three times of X to two times of Y is:

X1..4:3
xX25:9
X3 3:4
¥4 9:5

Ans

Question ID : 65497832204
Status : Answered
Chosen Option : 4
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Q10 1f 8095 of 3/4 of a number is 63, then the number is:
Ans 1. 105

X2 95

<3 115

X4 110

Question ID : 65497832214
Status : Answered
Chosen Option : 1

Q.11 Ifa 10-digit number 643x1145y2 is divisible by 88, then the value of (2x — 3y) for the largest value of y is:

Ans <1 15

X2 27
X3 15
¥4 —27

Question ID : 65497832203
Status : Answered
Chosen Option : 4

Q.12 Akhil drives a car from his home to office at an average speed of 50 km/h and reaches office 10 minutes early. But one
day due to some problem with the car, he could drive at an average speed of 30 knvh only and reached office 10 minutes
late. How far is his office from home?

Ans X1 37.5km
X 2. 30 km
3. 25 km
X4 12.5km

Question ID : 65497832202
Status : Answered
Chosen Option : 3

Q.13 When x is subtracted from each of 43, 38, 11 and 10, then the numbers so obtained in this order are in proportion. What
is the mean proportional between (11x + 3) and (9x— 2)?

Ans X 1. 35
X2 25
3. 30
X420

Question ID : 65497832207
Status : Answered
Chosen Option : 3

Download More Papers From www.GovtJobsAlert.In



Download More Papers From www.GovtJobsAlert.In

Q.14 Rameshwar deposited a part of ¥3,28,000 in a bank in the name of his daughter aged 18 years, and the balance in the

name of his son aged 19 years in such a way that they both receive equal amounts when they become 21 years of age. If

the bank gives compound interest at 5% per annum, then how much did he invest in the name of his daughter?

Ans X 1. 1,57.000
X 2. 21,58,000
« 3. %1,60,000
X 4. 21,56,000

Question ID : 65497832200
Status : Answered
Chosen Option : 2

Q.15 During a flight of 900 km, an aircraft was slowed down due to bad weather. Its average speed for the trip was reduced

by 300 knv'h and the time of flight increased by 30 min. The original duration of the flight was:

Ans X1 3p
X2 32h
X3 2h
4 1h

Question ID : 65497832216
Status : Answered
Chosen Option : 4

Q.16 What number must be added to each of the numbers 15, 9 and 5 so that the resulting numbers may be in a continued

proportion?

Ans 1 3
X2 4
3 3
x4 2

Question ID : 65497832210
Status : Answered
Chosen Option : 3

Q.17 By selling 40 dozen bananas for 1,440, a man gains 20%. In order to gain 30%, for how much should he sell 20 dozen

bananas?

Ans 1. 3780
X 2. 31,560
X 3. 7936
X4 3720

Question ID : 65497832199
Status : Answered
Chosen Option : 1
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Q.18 The amount obtained by investing a certain sum at r % p.a. for 3 years at simple interest is equal to the simple interest

Ans

on the same sum at the same rate for 19 years. What is the value of r?

v 1.6.25
X2 575
X3 4
X4 8

Question ID : 65497832208
Status : Answered
Chosen Option : 1

Q.19 If the selling price of an article is T900 and the discount is 40%, then find its marked price (in ).

Ans

X 1. 1,200
¥ 2. 1,500
X 3. 1,600
X 4. 800

Question ID : 65497832213
Status : Answered
Chosen Option : 2

Q.20 The area of the floor of a cubical room is 192 m2. The length of the longest rod that can be kept in that room is:

Ans

X1 18m
X2 22m
¥3 24m
X4 26m

Question ID : 65497832211
Status : Answered
Chosen Option : 3

Q.21

Ans

The average weight of 6 persons increases by 1.5 kg when a new person comes in place of one of them who was
weighing 65 kg. What is the weight of the new person?

X 1. 66.5ke
2 T4kg
X3 76 kg
X4 755ke

Question ID : 65497832212
Status : Answered
Chosen Option : 2
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Q.22 Pipes Aand B can empty a full tank in 16 hours and 24 hours, respectively. Pipe C alone can fill the empty tank in 4
hours. If A, B and C are opened together, the tank will be 35% full after:

Ans 1
X113 5 hours

X2 3% hours
W3 2% hours

X 4 2? hours

Question ID : 65497832223
Status : Answered
Chosen Option : 3

Q23 Simplify the following expression.

312+26+60+(42—-55 of 4+10)x2

9+(12-2of 4)

Ans 6
b
169
1
K2
26

3, it

169
5
o 4 1=
13

Question ID : 65497832201
Status : Answered
Chosen Option : 4

Q.24 A wader purchased 360 packets of pencils at the rate 0f 15 per packet. He sold 60% of the packets at the rate of T18 per
packet and the remaining packets at the rate of 20 per packet. What is his gain per cent (up to one decimal place) in
this transaction?

Ans 1. 255
2 253
K3 252
X4 254

Question ID : 65497832217
Status : Answered
Chosen Option : 2

Q.25 Two successive discounts, with the first being 10%, were given on an article having the marked price of ¥7,500. Finally,
it was sold for ¥5,805. What per cent was the second discount?

Ans X1 12%
X2 15%
X 3. 16%
4 14%

Question ID : 65497832209
Status : Answered
Chosen Option : 4
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Section : Part D English

Q.1 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

Please let me know / whether you decide / to come with me.
Ans X 1.to come with me
75 2. Please let me know
" 3. whether you decide
#< 4. No error

Question ID : 65497832224
Status : Answered
Chosen Option : 3

Q.2 Select the most appropriate option to fill in the blank.

His condition was so critical that a senior doctor performed the operation.
Ans X 1.yourself

< 2. myself
< 3. itself
+«" 4. himself

Question ID : 65497832234
Status : Answered
Chosen Option : 4

Q.3 Select the most appropriate ANTONYM of the given word.

Detest
Ans X 1. Abhor
" 2. Adore
75 3. Reject
X 4. Hate

Question ID : 65497832225
Status : Answered
Chosen Option : 2

Q.4 Select the most appropriate synonym of the given word.

Cruel
Ans X 1. Polite

< 2.Easy
2< 3. Mild
4" 4. Brutal

Question ID : 65497832229
Status : Answered
Chosen Option : 4
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Q.5 Select the option that can be used as a one-word substitute for the given group of
words.

A large number of fish swimming together
Ans X 1. Gaggle

< 2. Herd
75 3. Pride
" 4. Shoal

Question ID : 65497832243
Status : Answered
Chosen Option : 1

Q.6 Select the most appropriate ANTONYM of the given word.
Hesitate
Ans X 1. Falter
& 2. Advance

75 3. Delay
< 4. Waver

Question ID :'65497832237
Status : Answered
Chosen Option : 2

Q.7 Select the INCORRECTLY spelt word.
Ans 4 1. Robery

#< 2. Rotten
75 3. Rotate
< 4.Round

Question ID : 65497832227
Status : Answered
Chosen Option : 1

Q.8 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

The old man was too weak that he couldn’t climb the stairs.
Ans X 1.soweakto

7% 2. No substitution required
X 3. very weak to

¥ 4. too weak to

Question ID : 65497832239
Status : Answered
Chosen Option : 4
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Q.9 Select the most appropriate option to fill in the blank.

Music is helpful in improvingthe _ of students.
Ans X 1. attraction
4" 2. concentration
#< 3. transfiguration
75 4. solution

Question ID : 65497832231
Status : Answered
Chosen Option : 2

Q.10 Select the option that can be used as a one-word substitute for the given group of
words.

Break or fall apart into small fragments in the process of deterioration
Ans X 1. Collapse

2< 2. Slump

7% 3.Sag
" 4. Crumble

Question ID :'65497832226
Status : Answered
Chosen Option : 1

Q.11 Select the most appropriate synonym of the given word.

Plead
Ans 4 1. Request
X 2. Repeat

75 3. Refuse

X 4.Reply

Question ID : 65497832242
Status : Answered
Chosen Option : 1

Q.12 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Shilpi has / a keen interest / of learning / a foreign language.
Ans X 1.aforeign language
" 2. of learning
< 3. akeen interest
2< 4. Shilpi has

Question ID : 65497832241
Status : Answered
Chosen Option : 2
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Q.13 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

The inmates of the house are sleep when the thief entered.

Ans X 1. No substitution required
X 2. were sleep
< 3. are sleeping
" 4. were sleeping

Question ID : 65497832230
Status : Answered
Chosen Option : 4

Q.14 Select the most appropriate meaning of the given idiom.

To break new ground
Ans X 1. To look for a new building

¥ 2. To innovate or pioneer
7% 3. To disturb or interrupt

X 4. To start digging somewhere else

Question ID :'65497832236
Status : Answered
Chosen Option : 2

Q.15 Select the correctly spelt word.
Ans X 1. Precipetation

#< 2. Labaling
«# 3. Procedure
< 4. Precoutions

Question ID : 65497832233
Status : Answered
Chosen Option : 3

Q.16 Select the option that can be used as a substitute for the given group of words.

Hair of animals, which is soft and used for making wool
Ans X 1. Bristles
< 2. Kenosis
o 3. Fur
X 4. Grizzly hair

Question ID : 65497832235
Status : Answered
Chosen Option : 3
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Q.17 Select the most appropriate meaning of the given idiom.
To break into tears

Ans  # 1. To cry suddenly

< 2. To fidget

< 3. To panic

25 4. To be afraid of

Question ID : 65497832232
Status : Answered
Chosen Option : 1

Q.18 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

Molly Yvonne didn’t know what to do. She was torn apart with conflicting emotions.
Ans X 1.For

X 2.1n

2% 3. No substitution required

«" 4. By

Question ID :'65497832240
Status : Answered
Chosen Option : 4

Q.19 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

Kavya didn’t wanted / any help / in painting.
Ans o 1. Kavya didn’t wanted

2< 2.in painting
75 3.any help
X 4. No error

Question ID : 65497832228
Status : Answered
Chosen Option : 1

Q.20 Select the most appropriate option to fill in the blank.
The teacher asked us to write our answers
Ans X 1.laudably
X 2. latently
«" 3. legibly
X 4. laughably

Question ID : 65497832238
Status : Answered
Chosen Option : 3
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Once, a man and his son were going into town. (1) wanted to sell some potatoes.
They went with (2) donkey, and the donkey (3) the potatoes. While they
walked, (4) man came past on a horse.

“Shame (5) you!” he said. “Why do you have a donkey, but you don’t ride it?”

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans o 1. They

5 2. He
< 3. Who

X 4t

Question ID : 65497832245
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Once, a man and his son were going into town. (1) wanted to sell some potatoes.
They went with (2) donkey, and the donkey (3) the potatoes. While they
walked, (4) man came past on a horse.

“Shame (5) you!” he said. “Why do you have a donkey, but you don’t ride it?”

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans X 1.one

25 2. own

#5 3. his
o 4. their

Question ID : 65497832246
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Once, a man and his son were going into town. (1) wanted to sell some potatoes.

They went with (2) donkey, and the donkey (3) the potatoes. While they
walked, (4) man came past on a horse.
“Shame (5) you!” he said. “Why do you have a donkey, but you don’t ride it?”

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans X 1. weighed

¥ 2. carried
/< 3.sold
#% 4. loaded

Question ID : 65497832247
Status : Answered
Chosen Option : 2
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Q.24
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Once, a man and his son were going into town. (1) wanted to sell some potatoes.
They went with (2) donkey, and the donkey (3) the potatoes. While they
walked, (4) man came past on a horse.

“Shame (5) you!” he said. “Why do you have a donkey, but you don’t ride it?”

SubQuestion No : 24
Select the most appropriate option to fill in blank number 4.
& 1.same

5 2. some
< 3. other
w4 a

Question ID : 65497832248
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Once, a man and his son were going into town. (1) wanted to sell some potatoes.
They went with (2) donkey, and the donkey (3) the potatoes. While they
walked, (4) man came past on a horse.

“Shame (5) you!” he said. “Why do you have a donkey, but you don’t ride it?”

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank number 5.

Ans

o 1.0n
5 2. at
7< 3.by
< 4. for

Question ID : 65497832249
Status : Answered
Chosen Option : 1

Section : Part D Hindi

QA1

Ans

TS qd-l AT e BT I B
< 1.391q
X 2.39iq
« 3.390
X 4.391q

Question ID : 65497832258
Status : Not Answered
Chosen Option : --
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B A S p—

Ans

X 1. RepRrdl
X 2 Dshdl
3. TgTerdl
X 4. feaferdt

Question ID :
Status :
Chosen Option :

65497832256
Not Answered

Q3 ﬁqmmﬂmﬁwmaﬁuﬁmﬂﬁamﬁ%ﬁmmmﬁmmmﬁl
fe 3/ ufaeaTfie #3 #t sraxa®ar 781 8, af ey bt agare o sraxaedr & &

T I B
Sreht 3 BT 7Y 9gd HeT Erar 2l
Ans X 1 il 9Ead BT SMaDdl Tel B
o 2. T &1 3ehl gy
X 3. A BIgY
X 4. By
Question ID : 65497832264
Status : Not Answered
Chosen Option : —
Q.4 3 BT YeTay BT 3 Fa13¢l
Ans X 1. 9HS Bl
2. A B
X 3. AR BA
X 4. YPRR Al
Question ID : 65497832260
Status : Not Answered
Chosen Option : —
Q5 31ev 3R PRIET FAT TE o fbw eray H12?
Ans X 1. UF-UX & Yiffd g
2. UF-UEH e
X 3. UH-%d W@
X 4. UA-%a-l
Question ID : 65497832253
Status : Not Answered
Chosen Option : —
Q.6 S T ST T €7 JIT & oY Ue W BNI-
Ans X 1 3FSH
X 2. 3ifafy
X 3.3
o 4. SRIId
Question ID : 65497832266
Status : Not Answered
Chosen Option : —
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Q.7 f3g e aren ¥ YEfea @e & ufawnfia $3 & e wed sugea Rea sraga s31
Tfe 3 vfaenfid $3 F1 snaxgsar 1e1 €, 9 Ao fodt 9game 9t sawmea 181 &
BT I BN
I w5 ufverdt St §1
Ans X 1 EIdIgl
X 2.7 gl
& 3. T8l
X 4. 53 SadE 31 saaddl el 6l

Question ID : 65497832255
Status : Not Answered
Chosen Option : —

Q.8 T Y weg F W Weg BT T B
=
Ans 1 $R
o 2. GRS
X 3. WA
X 4. TR

Question ID : 65497832263
Status : Not Answered
Chosen Option : —

Q.9 gﬁqmmwaﬁmmﬁﬁwﬁﬂéaﬁ%mﬁﬁ%aﬁﬂﬁ%ﬁﬁ%ﬂa%
I

o= ad & (1) A 9 a4 (2 wa oSt @ (3) P IR TE E (8)
Ans 1.1
x 2.4
X 3.3
X 4.2

Question ID : 65497832250
Status : Not Answered
Chosen Option : —

Q.10 ﬁqwmﬁiﬁlﬁﬁmﬁuﬁwﬁamﬁ%ﬁqmﬁmﬁwwmﬁl
@uﬁw@aﬁ FIA PI HEARTHAT Tel 8, A FAwey ot aqama #t smaxgear € ¥
BT IT DY

€ g3 IAHIE § et Al
Ans X 1. R HIAd
X 2. UdH &a |
¢ 3. fRea ¥
X 4. {58 SgaK @ saaddl Tel ol

Question ID : 65497832261
Status : Not Answered
Chosen Option : —
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Q.11 e R B WA & g vl Suge =g 1 999 331

uRads o1 a8

Ans X 1 T@id
X 2.9 d
« 3. 0Pk
X 4. gl
Question ID : 65497832259
Status : Not Answered
Chosen Option : -
Q.12 U F 9I¢ BT U TR & (1T TP e EITI-
Ans 1 WG
X 2. myfa
X 3. 991%
X 4 qdiw
Question ID : 65497832269
Status : Not Answered
Chosen Option ' —
— ——
Q13 e faeir g gafa 78 82
Ans 1 fER-WDR
X 2. 3399
X 3. 3{a-d-3dd
X 4. PH-IHMH
Question ID : 65497832252
Status : Not Answered
Chosen Option : -
Q.14 3T 1T Rreg & FAFTA e FT 99 SIW|
Liaif
Ans 1 gSHAR
X 2. YsUR
X 3.9s9rd
X 4. 39
Question ID : 65497832251
Status : Not Answered
Chosen Option : —

Q15 %qlmmwagmmﬁﬁaﬁﬁiaﬁélﬂﬁ?ﬁéaﬁﬂﬁ%ﬁfﬁiﬁ“ﬁ%

Wege ufeRr (1) S F 2) 6 ¥ @y P IR T ¥ ()

Ans X 1.4
& 2.3
X 3.2
X 4.1

Question ID :
Status :
Chosen Option :

65497832262
Not Answered
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Q.16 W& T aTel Mg BT 99 DY
Ans X 1 3ffedid

X 2. sifgfag

3. g

X 4. g

Question ID : 65497832257
Status : Not Answered
Chosen Option : —

Q17 A7 arew F fbw wm A e @2
BE A UpTa P Yoz W BT vl fFar 81
Ans 1 R UMD
X 2. auf fHar gl
X 3.®fdd
X 4. vl ot

Question ID : 65497832267
Status : Not Answered
Chosen Option ' —

———

Q.18 3% T T ¥ g v W weg difog
forat sitfaer Afdm a8
Ans X 1 @R
X 2. 3R
< 3. 1w

4. oI

Question ID : 65497832254
Status : Not Answered
Chosen Option : —

Q.19 i3 g arew & Rea-wiM WA F g gad
WIG____ EEIIEIAl
Ans X 1. 9@-9™
X2®W/R
3. Faga
X 4 WW

IUYE g BT TG4 B

Question ID : 65497832265
Status : Not Answered
Chosen Option : —

Q.20 I 1 fadi wreg EFTI-
Ans X 1. &R

X 2. Ra
¢ 3.9
X 4. PR

Question ID : 65497832268
Status : Not Answered
Chosen Option : —
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Comprehension:

T IRIRG FF AT S geddran (1) 8! o1 HFRID Ja¥ & GHIa-1 U i 9ga- 4
PAPI AR UGN DI(2) I T8l gidl| o «1dl A T & o= Sue, A, (3)

3 BT YT QAT §, 32 3 a%a@‘lamwmﬁmmgqmagaﬂmmg@
@) 33Ed 5T W S TuIs Bl SiURY 95-98 YHIGR dd 9T $d 9ad &
Wmmﬁag%a:%amﬁ QR H DT IT 316 - G A I8 ST I oL AF -
AR BT P YEIRNG (5)  Jdgax aldi gl

FE st & IR SWIad TR & SHTUR W giforg|

SubQuestion No : 21
Q.21 T & Y ®IF (1) ¥ fore weifie Sugea wee -
Ans X 1 YR
X 2.9d=R
3.1l
X 4. 9FR

Chosen Option : —

Question ID : 65497832271
Status : Not Answered

Comprehension:

T IRIRG PP AT OIS gedarar (1) 81 o | HFRID dax & 9ua-1 4 i aga- 4
PH PR UGAGH DI (2) 3 T8l el o 1l @ A & o9 Suer, Fia, (3)
ST BT TG 3, I Sl IR HAIPHIRYR W) 5T i G5 § Al S8 g ¥ed
@) 3f3Ed gU W o TuIsl Bl SiURY 95-98 YHIGR b 9T $Hd 90 &
& 376 ar ¥ ag%a:—%amﬂ QR H DT 3T 316 - G A I ST I g 7 -
ARG PEIEIRNG (5) A SedR ol gl

70 Ul & IR SWRId T & YR R GIoig |
SubQuestion No : 22
Q.22 T & fYaa ®IF (2) % fore weifte Suged wee 8-
Ans X 1.¢9RY
« 2.9led
X 3. fewa
X 4.7

Chosen Option : —

Question ID : 65497832272
Status : Not Answered

Comprehension:

ﬁmmw@atﬂ%aﬁmm T 81| TR F0 &I gHIGT ¥ M 9gd-
AP AR UGN D) I I8l gidl| o s1dl A T & & Suer, A, (3)
3R BT YT @A 8, 32 3 ﬁmmmm@mmﬂmmgﬁa
Tl@)_  efiEd gu i oo Uush Bl SR 9393 YHIGR dd SUIIE $d 9ad &
Wmmﬁag%w—%amﬂ Eﬂ?ﬂﬁm%mm G A I8 ST 39 ¢ A -

TR ST HY TEIRRS (5) AR gl gl

70 Ul & IR IWRIed T & YR R GIoig |
SubQuestion No : 23
Q.23 TR & e WM (3) ¥ forg waifie Iugea wes 8-
Ans X 1 7™
2. 3UHH
X 3.9WH

X 4.5fa

Question ID : 65497832273
Status : Not Answered

Chosen Option : -
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Comprehension:

T IRIRG FF AT S geddran (1) 8! o1 HFRID Ja¥ & GHIa-1 U i 9ga- 4
PAPI AR UGN DI(2) I T8l gidl| o «1dl A T & o= Sue, A, (3)

3 BT YT QAT §, 32 3 a%mammwmﬁmmgqmaga%mmgﬁa
@) gf13Ed 3¢ oo Uueh &1 3R 9393 YHIGR dd 391 I dad &
ﬁmmﬁag‘m—em QRN # D1 AT TR - G - I8 ST I¥b ferg /M -
AR BT P YEIRNG (5)  Jdgax aldi gl

FE st & IR SWIad TR & SHTUR W giforg|

SubQuestion No : 24
Q.24 T & fYaa I (4) ¥ fore waifie Suged wee 8-
Ans X 1 ygax
X 2. Wi
X 3. Hiwor
o 4. Ud

Question ID : 65497832274
Status : Not Answered
Chosen Option : —

Comprehension:

ﬁmmﬂﬁﬁtﬁ%mmm 81 1| HFRID J & 9HaT 4 i §gd- 9
AP ARUGAEN DI (2) I I8l gidl| o «1dl A T & o= Suer, e, (3)
ST BT TG 3, I Sl IR HAIPHIRYR W) 5T i G5 § Al S8 g ¥ed
@) 3f3Ed gU W o TuIsl Bl SiURY 95-98 YHIGR b 9T $Hd 90 &
& 376 ar ¥ ag%aresﬂqﬂ QRN # DT AT TG - G - 8 ST I8 ferd 7 -
ARG PEIEIRNG (5) A SedR ol gl

st & IR SWIad TR & SHTUR W giforg|

SubQuestion No : 25
Q.25 e & fad wiI (5) 3 forg watfue Iuged wreg grm-
Ans 1. g9
X 2. gl
X 3. 3
X 4. Ot

Question ID : 65497832275
Status : Not Answered
Chosen Option : —
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